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s =k #ip b 3k i@ C02 ~ NOx #

» NO«f2 i = £

#A | CO£ %R E = (g-C/4m - km)
(kn/he) [H:d f# | JAlf+ | Fiz
) 326. 89 145. 50 861. 20
10 229. 34 91.09 639. 13
5 194. 89 72.76 551.71
25 164. 67 57.96 461. 37
40 145. 20 49. 83 387.39
60 134. 51 46. 39 333. 69
70 132. 68 46.12 319. 69
NOL 2+ B B i

@R | NOEERE =(g/ 4« kn)
(kw/he) [ % G4 | 1Al f+ | Fiz

5} 6. 98 1.11 8.22

10 4.90 0.79 6. 25

15 4.12 0.68 .45

25 S. 3 0. 56 4.54

40 2.78 0.47 3. 61

60 2. B2 0.39 2.58

70 2. 18 0.34 2.10

At iEE CO < h E =

T B2 P pF > - Bap gt 40 km/hr 0 B i B * 70 kn/hr o

dsda € EPE(DWT) | CO42< 8 R ¥ = (Wf-C/4k /] P¥)
1000 0. 21
3000 0. 24
5000 0.33
10000 0.50
30000 0.99




50000 1.35
70000 1. 66
90000 1.94
120000 2.32
150000 2. 66

b NO 2R R E

ipia £ B (DWT) | NO2 <& R B = (o/4 - o] p¥)

1000 0. 007
3000 0.016
5000 0. 023
10000 0.039
30000 0. 088
50000 0.128
70000 0.165
90000 0.198
120000 0246
150000 0. 290

AR AT E S kg A4



../Cost–benefit%20analysis.html
../Cost–benefit%20analysis.html

